50 SHEETS

22-142 100 SHEETS
22-144 200 SHEETS

22-141

&
AMPAD

EEB50Y | FaLe 2008 | Soluhen to HWHES

Solution 1 Bopblem | ( then 5.4 )
-2

§s)= S ) PABO shable?

éls} 1S net a ratiprad Hransfer Lnehon - need e Look at
(M()\A\SP fesponse

~#-2) o
%C‘f)"jﬁl[ém:\’g e f 12z 2
o .

o <2
_i"a‘“l o = ge‘“'”d‘t | det T=41 AT -di
0 [} .
et e oo
y <o ~
po
Since S (adu:)loH: < system is BBO sinble (Fust Cerbemion )
), ,

Soluhorn Fo Problom 2 (chen 5.7)

S N

ye 2 3] x-2u
B0 sable *

A is clearly not H’\AWWH‘% tant  wse Thivd Criteceon,
Ownr M\L, hO{n h *}*oﬂeA‘ 7.8 pala-?:@m mncd\q-hmmw TF:

4s)= G (sT-A) "B +D

T I P
o S~ o}
- l‘fﬂﬁs =) -2 3][9—5 loi)[—?_] -2
0 -S4y ’°

St | s +]

- ! (-2 3] [23——2‘3]_;1 ﬁ—;—*:l-;—z= . S S R

(s+1 )(s-1)

¢}

No more pele Zere concellahoms,
Secomd  chtereon cayec rat Mais sysjem is BISBD stable.




@

50 SHEETS

22-142 100 SHEETS
22-144 200 SHEETS

22-141

Solution o Pablem 3¢

”)((K‘PI): [o,‘) I]«U‘;) +[:;] H(,K)
[<] | r

QU‘) = [« s ] X (k)

Best e pprooch I's pmbabM P "anc} e TF,. .

§(z)- ClaT-n) B = [e o) [z 0.9 *']"‘[b,]

o - 5,
‘ [Cl cz][ \l ](b,]
(-Z——o q)(%,,) o 2z-0a )|t
o by [c CZ] b\(z\)-flo
(z-oa)tz= =) ‘o:_(%—oq)
= e by (2-1) + ¢y by +c2_lg (Z—oc,)
(z- o ‘7) (z-1) |
L bn“cz b )2 + (¢ ks b,. 0.4k, )
[2-04) (2- i) |

note Mat we can anly have B‘&) S'}ﬂ‘ﬁ"*ﬁi‘ id owe
Can Gﬂhce‘ ’Me (2-1) ’refm M % denvannator,
This ¢can enly \prpen F

(/{(uccz z)?;’-c\lerc ,+ochb :

e, la,,}{ -c,‘,%‘. M
Hence our system is BlBo s-\ubz/t .«Canamlwﬁ |
EL=’“'OC' 1@, any b, MA L7 Q-«o ‘Q’vo«m& c. c,, b,

‘Thed‘e u$ no‘ cwd e on ‘0 ) m gmerwfv

Cheek® G=1  ey= o

IRETICE 1["} b (2900 4by — 1ok, (2-0,9)
o %-p.9 b (

(by-toba)z — (b, —b, _qbz>
(b\*\D\?z)E - (194")0,52.)

= Gmiob) @) < grreglefon,

!

] ']'

p




| |

)

50 SHEETS

22-142 100 SHEETS
22-144 200 SHEETS

22-141

S"DLM‘}-{VT\ jvjmb/&rn 4 .

. b
ORI ENNAS IS
Reachability =

- [B AB] 2 [il ‘iz}

ey

ba;.; -fw %«mmo(c seuhgl TR" T‘C b, ééo |
if b,=0 alea #—o

S R A ;ﬂ 7. bo=b”

Since  {veachable states § © {ld\f\%\v“m’o‘c shokesS§ Thin

Wl K,now That
} controllnbrle states§ = R™ ij# b, #0

however, when hy=o , 4 ;
x(k) = AX x(o) + 2; A" B uld)
and A =0  for Kz 2. H’ﬁﬂce ;W fan set ule)=0 V2
MI(A we see  that - any state in R? is meuwle \rwfsraeda\,e
of B, SO

LHme Zowdw((wlz\r f‘i-ad—es} IR _Fra g -

(Emm‘o(e, S"nkj“g ~+ zbcm"ﬁr‘a\\a'o\e sbdeSB (-P and On\% no b O




EE 5oy 7 FALL 2008 Solutton v HW 5

50 SHEETS

22-142 100 SHEETS
22-144 200 SHEETS

22-141

&
AMPAD

Soluhon +» Poblem 5
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But  (c-2)W(c-C)T =0

This s only possible If C-C=0 Thus C must equalk C.




nann
P e
s W W
[yl
IXTX
Ny
-3-8-4
noe
Ll
[l
L.
=g g
U U .
NN
NN

Solution 12 Prlolem 8
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